



Mindy Weiss

09/24/2025 09:00 AM | Wed. 9/24 Drive to SB & Install **09/25/2025** 08:00 AM | Thursday 9/25

Shipping Address:

PO:

Invoice Date:

Due Date: Upon Receipt

Salesperson: Brandon Dunn

09/25/2025 08:00 AM | Thursday 9/25 Install 09/26/2025 08:00 AM | Friday 9/26 Install 09/27/2025 08:00 AM | Saturday 9/26 Install 09/27/2025 08:00 AM | Sunday 9/27 Strike 09/27/2025 08:00 AM | Monday 9/28 Strike Welcome Party / Drive to L

Description		Qtty	Price		Total
Lounge Furnitur	e				
	Sofas - Basketweave Fabric - Ginger 99.5"W x 44.5"D x 31" - Seat Height 16.5"	4	\$526.50	Т	\$2,106.00
		Tot	al Lounge Furnit	ture	\$2,106.00
Aspen Bars, Bac	ck Bars, Mirrors & Sconces				
	Bars - Santa Barbara - Square Molding 8' 8'x 30"x 42"H - Custom Color Upon Request	4	\$1,053.00	Т	\$4,212.00
	New Bars - Santa Barbara - Square Molding 8'	4	\$1,053.00	Т	\$4,212.00
	Custom Made Aspen Barbacks 24'L	2	\$3,744.00	Т	\$7,488.00
	Custom Made Aspen Barbacks 8'L	2	\$1,404.00	Т	\$2,808.00
	Barbacks - Wood Straight - Multicolor 14'W x 18"D x 10'H	2	\$4,446.00	Т	\$8,892.00
	Small Decor - Glass Bottle 01 3⤠¤ ₩3⤠¤ ±8⤠¤ H	15	\$20.18	Т	\$302.74
	Small Decor - Glass Bottle 02 3âN N W3âN N 18âN N H	15	\$20.18	Т	\$302.74
	Small Decor - Glass Bottle 03 3âN N W3âN N 110âN N H	6	\$20.18	Т	\$121.10
	Wall Mirrors - Wood Frame 46"W x 76" H - Custom Frame Color Upon Request	2	\$470.93	Т	\$941.85

Description		Qtty	Price		Total
	Sconces - Avignon - Crystal 13"W x 28"H - 25 Watts	4	\$140.40	Т	\$561.60
	Total Aspen Ba	ars, Back Bars	s, Mirrors & Scon	ces	\$29,842.02
Aspen Stage Fro	onts				
	Stage Fronts - Wood W/ Frame 4'x2' 4'W x 2'H	6	\$58.50	Т	\$351.00
	24' x TBD Height Stage Fronts - TBD	1	\$5,265.00	Т	\$5,265.00
		Total	Aspen Stage Fro	onts	\$5,616.00
Chandeliers					
	Chandeliers - Oversized Chinese 70"W x 60"H - 20lb - 100 Watts	9	\$936.00	Т	\$8,424.00
			Total Chandel	iers	\$8,424.00
Banquettes					
	Booths - Monaco - Round White Velvet 2pc Set	8	\$807.30	Т	\$6,458.40
	Booths - Half Circle - Upholstered	4	\$0.00	Т	\$0.00
	Banquettes - Straight 3' - Upholstered	4	\$0.00	Т	\$0.00
	Booths - Monaco - Wood Back Boxes For Monaco Booths	6	\$585.00	Т	\$3,510.00
T	Dining Table - Tuscany - Dark Wood Round 66" 66"Diam X 30"H	11	\$538.20	Т	\$5,920.20
	Small Dining Tables - Antique Brass Round 40"Diam x 30"H	6	\$370.01	Т	\$2,220.08
	Banquettes - Pasadena - Straight Ivory W/ Skirt 6' 6'W x 39"L x 30"H	10	\$403.65	Т	\$4,036.50
	Banquettes - Pasadena - Straight Oatmeal Chenille 6' 6'W x 29"L x 38"H	10	\$403.65	Т	\$4,036.50
TI	Dining Table - Tuscany - Dark Wood 8' 8'W x 48"L x 30"H	12	\$538.20	Т	\$6,458.40

Description		Qtty	Price		Total
7	Small Dining Tables - Manchester - Dark Wood 36â® Irnd x 30â® IH	10	\$336.38	Т	\$3,363.75
W	Small Dining Tables - London - Dark Wood 36âN N rnxd30âN NH	10	\$336.38	T	\$3,363.75
1	Small Dining Tables - Maui - Black Circular Wood 36"Diam x 30"H	10	\$336.38	T	\$3,363.75
	Banquettes - Pasadena - Straight Ivory W/ Skirt 6' 6'W x 39"L x 30"H	8	\$403.65	T	\$3,229.20
	Consoles - Banquette Console - 6' 6' x 18" x 30"H - To be used with Pasadena Banquettes	4	\$0.00	Т	\$0.00
	Dining Table - Las Vegas - Colored Top 8'x48" 8'w x 48"D x 30'H - Custom Top & Base Color Upon Request	8	\$470.93	T	\$3,767.40
T	Dining Table - Las Vegas - Colored Top & Base Round 66" 66"Diam x 30"H - Custom Top & Base Color Upon Request	5	\$403.65	Т	\$2,018.25
			Total Banquet	tes	\$51,746.18
Ceremony Drop	Off Tent 10' x 30'				
	Drape Stock 12'h In Stock Pleated Fabric TBD 10 Panels of 10'W x 12'H	1	\$1,930.50	Т	\$1,930.50
	In Stock Fabric for Ceiling Treatment 10' x 30' Tent Flat or Pleated TBD	1	\$2,164.50	Т	\$2,164.50
	In Stock Valance	1	\$526.50	T	\$526.50
	Total C	eremony Dr	op Off Tent 10' x	30'	\$4,621.50
Ceremony Walk	Way Tent 120' x 10'				
	In Stock Pleated Fabric for Side Walls 26 panels of 10' W x 12'H	1	\$5,265.00	Т	\$5,265.00
	In Stock Valance 260' L	1	\$1,521.00	Т	\$1,521.00
	In Stock Fabric for Ceiling Treatment 120' L x 10'W tent Pleated or Flat TBD	1	\$5,499.00	Т	\$5,499.00
	Total Cer	emony Walk	Way Tent 120' x	10'	\$12,285.00

Description		Qtty	Price		Total
	Custom Made Woven Ceiling to Peak for 80' x 40' Tent Rayo Linen	1	\$31,590.00	Т	\$31,590.00
	In Stock Pleated Wall Treatment for 80'L x 40' Tent 32 panels 10'W x 12'H	1	\$6,435.00	Т	\$6,435.00
	In Stock Fabric Ceiling Treatment Option Pleated or Flat TBD	1	\$7,605.00	Т	\$7,605.00
	In Stock Valance	1	\$1,638.00	Т	\$1,638.00
		Total Ceremo	ony Tent 80'L x 40	0'W	\$47,268.00
Ceremony Brida	al Tent 10'x15'				
	In Stock Ceiling for 10' x 15' Tent Pleated or flat TBD	1	\$1,053.00	Т	\$1,053.00
	In Stock Pleated Walls 4 panels 10'W x 12'H	1	\$819.00	Т	\$819.00
	In Stock Valance	1	\$292.50	Т	\$292.50
	Т	otal Ceremon	y Bridal Tent 10'x	(15'	\$2,164.50
Ceremony Brida	al Tent 60'L x 30'W				
	In Stock Pleated Walls for 60' x 30' Tent 4 panel 20'W x 12'H 8 panels 10'W x 12'H	1	\$3,100.50	T	\$3,100.50
	In Stock Ceiling for 60' x 30' Tent Flat or Pleated TBD	1	\$3,510.00	Т	\$3,510.00
	In Stock Valance	1	\$1,053.00	Т	\$1,053.00
	Total	Ceremony Bri	idal Tent 60'L x 30	0'W	\$7,663.50
Ceremony Caba	ana				
	Garden Gazebos & Cabanas - 10' X 10' Cabana Frame (in Stock Fabric Included) Off White / Natural Gauze w/ Tie backs 10' x 10' x 10' - Chandelier not included	1	\$2,106.00	T	\$2,106.00
		Tota	al Ceremony Caba	ana	\$2,106.00
Guest Check In	Tent 15' x 35'				. ,
	In Stock Pleated Wall Treatment	1	\$3,510.00	Т	\$3,510.00
	In Stock Inside Ceiling Treatment 15'x35'	1	\$3,744.00	Т	\$3,744.00
	Pleaated or Flat TBD				
		1	\$965.25	T	\$965.25

Description		Qtty	Price		Total	
		Total Guest Check In Tent 15' x 35'			\$9,974.25	
Reception Tent	t 70' x 115'					
	Custom Made Flat Outside Ceiling Cap	1	\$18,954.00	Т	\$18,954.00	
	In Stock Pleated Outside Walls Including three 10' x 15' pop out lounge tents 200'L x 13'H	1	\$4,329.00	Т	\$4,329.00	
	Custom Flat Ouside Pop Up Ceiling Caps three total for 15' x 10' tents	1	\$3,510.00	Т	\$3,510.00	
	In Stock Valance 200'L	1	\$1,170.00	Т	\$1,170.00	
	Three In Stock Inside Ceiling Caps for 10' x 15' Pop Up Flat or Pleated TBD	s 1	\$4,212.00	Т	\$4,212.00	
	Custom Made 4' x 8' panels for walls of pop ups 9 per room @ 13'H	1	\$14,040.00	Т	\$14,040.00	
	In Stock Valance for Inside Pop Outs 150'L	1	\$877.50	Т	\$877.50	
	Two Inside Stock Gables Flat	1	\$3,744.00	Т	\$3,744.00	
	Inside Long Walls Pleated In stock Fabric 270'L x 13'H	1	\$5,850.00	Т	\$5,850.00	
	In Stock Inside Ceiling for 70' x 115' Tent Pleated or Flat TBD	1	\$14,040.00	Т	\$14,040.00	
	In Stock Valance 240'L	1	\$1,404.00	Т	\$1,404.00	
	One Outside Gable 70'W x 23.5H	1	\$6,435.00	Т	\$6,435.00	
		Total Rece	eption Tent 70' x 1	15'	\$78,565.50	
Services						
	Wed. 9/24 Drive from LA Install	16	\$650.00		\$10,400.00	
	Thurs. 9/25 Install	16	\$650.00		\$10,400.00	
	Fri. 9/26 Install	16	\$650.00		\$10,400.00	
	Sat. 9/27 Install	16	\$650.00		\$10,400.00	
	Sun. 9/28 Strike	16	\$650.00		\$10,400.00	
	Mon. 9/29 Strike Welcome Party / Drive to LA	16	\$650.00		\$10,400.00	
	Hotels (5 nights / 9 rooms)	1	\$14,500.00		\$14,500.00	
	Per Diems (6 Days / 17 Crew)	1	\$9,500.00		\$9,500.00	
	Trucking	8	\$750.00	Т	\$6,000.00	
	Manager Onsite for All Events	1	\$12,000.00		\$12,000.00	

Description	Qtty	Price	Total
Fire Proofing	1	\$7,500.00	\$7,500.00
Rush Fee 5%	1	\$13,000.00	\$13,000.00
Please make checks payable to Revelry, Inc.	-	Total Products:	\$262,382.45
Note: Prior to deliveries and pick-ups all invoices must be pay in full Please ready the contract and sign it		abor/Services/Misc: Vear & Tear (4.00%):	\$124,900.00
Notes	T	Packing (2.00%): axes (tax excempt):	\$5,247.65
		Discounts: Total:	(\$0.00) \$403,025.39
		Payments: Balance:	(\$0.00) \$403,025.39